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[Maximum mark: 16]

A healthy human body temperature is 37.0°C. Eight people were medically examined and
the difference in their body temperature (°C), from 37.0°C, was recorded. Their heartbeat
(beats per minute) was also recorded.
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(@) Draw a scatter diagram for temperature difference from 37°C (x) against heartbeat »).

Use a scale of 2cm for 0.1 °C on the horizontal axis, starting with ~0.3 °C. Use a scale of

1 cm for 2 heartbeats per minute on the vertical axis, starting with 60 beats per minute.

(b) mx}v , for this set of data
(i) the mean temperature difference from 37°C, x;

(d) () Use your graphic display calculator to find the Pearson’s product-moment

correlation coefficient, ».
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and heartbeat.

(e) Use your graphic display calculator to find the equation of the regression line yonx.

(f)  Draw the regression line y on x on the scatter diagram.
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the mean number of heartbeats per minute, 7.

Plot and label the point M (¥, y) on the scatter diagram.
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i)  Hence describe the correlation between temperature difference from 37°C
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